S0ZIUS-SPRITZSCHUTZ

Passenger footpeg splash guard | Support de cale-pieds pour passager anti-éclaboussures |
Proteccion contra salpicaduras del estribo del pasajero | Paraspruzzi pedana passeggero

Art-Nr: 13002-002 o_>

LEGENDE /key/file Légende

Anbau Tipp

Fitting tip

Astuce de montage
Achtung

Attention

Attention
VergriBerung
Magnification
Grossissement

Schraube

Screw

Vis
Schraubensicherung
Thread locking fluid
Freinfilets

Drehmoment
Torque
Torque

HCIw

Montagepaste Reiniger
Fitting lubricant Cleaner
Lubrifiant de montage Nettoyant

"o
\Y

0 100 ] Die Hiilsen (Nr.3) entfallen bei montierter Variokoffervorhereitung.

10 20 30 40 50 60 70 80 90 The sleeves (no. 3) are not required when the Vario case preparation is fitted.
‘ | ‘ | ‘ ‘ | ‘ | ‘ | ‘ | ‘ ‘ | ‘ Les douilles d'écartement (no. 3) ne sont pas nécessaires lorsque la préparation de la caisse Vario est montée.
AR ST AR Wl AR Y

Bauteil DE Die Farben der Abbildungen dienen nur der Veranschaulichung. Menge -
companent  EN The colors are for illustrating purposes only. DIN ISO quantity 4 | Linsenflanschschraube / Lens head screw M6x30 7381 7381 2
composaint — FR Les couleurs utilisées sont a titre indicatif seulement. quantité 5 | Zylinderkopfschraube / cylinder head screw  MB8x80 912 4762 4

1 | Sozius-Spritzschutz (rechts) / Passenger footpeg splash guard (right side) 1 6 | U-Scheibe / Washer M8 125 7089 4

2 | Sozius-Spritzschutz (links) / Passenger footpeg splash guard (left side) 1 7 | Hiilse/ Sleeve 26mm 4

3 | Hiilse/Sleeve 12mm 2 8 | Schraubensicherung/ Thread locking fluid 1




M8x80
28Nm

M6x30
6Nm









